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Time : 3 Hours Max. Marks : 40

Note : This paper is of forty (40) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Note : Section ‘A’ contains four (04) long answer type
questions of nine and half (9%) marks each.
Learners are required to answer two (02) questions
only.
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1. State and prove Thevenin’s network theorem.
Ao @l dead ywa @l fafay @ g
oy |

2. Explain the frequency response of transistor amplifier.

Draw a diagram for frequency response of a transistor

amplifier.

CIISTECT Yaelh ol 3IRT SFfhAT AHSTISY | Ty
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3. Explain basic principle of an oscillator and describe its
working of Hartley oscillator with diagram.

TS Qlferd @ SRR (gl ol qsigy @I 8lcd
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4.  What is filter circuit ? Give the advantage of a filter in
the output circuit of a rectifier. Discuss the use of

various filters to avoide ripples.
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Section—B / YUs—Y
(Short Answer Type Questions) / (¢Tg] S &)

Note : Section ‘B’ contains eight (08) short answer type
questions of four (04) marks each. Learners are

required to answer four (04) questions only.
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I. Discuss the position of the Fermi level in impurity
semiconductors.
UG 3Dl H BHl WX @ Reifd o fadgEr
IO |

2. What is Voltage Regulation ? Explain how a Zener
diode regulates voltage.
diced] (R @7 BT & ? Y SRS §RI dleed]
frae @e @l fafer @1 avie @ifig |

3. In a common base amplifier, a load resistance of 2.2
k€ is connected with collector in which voltage drops
2.2 volt. Calculate the base current (o = 0.9).
U SHIMS 3MER Ydelh H WYED & R S
2.2 kQ YIARM W fawa udd 2.2 dfce @ | 3R ERT &

A Fd DT (o0 =0.9) |

4. Explain comparison of L and m-section filters.
L TIT -39 fheex § T HIforg |

5. What is Voltage Multiplier ? Explain voltage
quadruple.

dlecdl UTh F1 8 ? dlcedl aqivih &l qasigy |

6. What is load line 7 Explain the significance of a load
line.
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7. Prove that :
A+B)Y(A+C)=A +BC

f¥rg aiforg fep :
(A+B)(A+C)=A +BC
8. What are combinational gates ? Explain the

functioning of NOR and NAND gates along with their
truth tables.
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Section—C / YUls—1
(Objective Type Questions) / (ﬂTﬂ:ﬁﬂ% EITFI)
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Note : Section contains ten (10) objective type
questions of half (1) mark each. All the questions
of this Section are compulsory.
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Choose the correct option :

el fawer gy

I. An electrical circuit containing impedances and

generators is :
(a) Mesh
(b) Loop
(¢) Network
(d) Complex Circuit
(B-15)
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For rectifying action, we use :
(a) achoke
(b) atransformer
(¢) adiode
(d) acondenser
feser ufdfoar @ ferg &4 fwer g ovd 8 ?
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3. Boolean algebra is essentially base on :
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(a) atsymbols

(b) atlogic

(¢) attruth

(d) at number
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4. For a transistor, which configuration is most suitable
for current or voltage amplification ?
(a) CB
(b)y CE
(¢) CC
(d) None of these
dlecdl A1 oRT UM @ foiv ¢ifoer @1 fo
fAfd=ITa ¥ ygdd AT 18y ?
(3) cB
@ cE
(@) cc
@ w00 o T
5. The Boolean algebra uses :
(a) Two digits O and 1
(b) Two digits 1 and 2
(¢) Two digits 0 and 2
(d) 10digits0,1,2,3,4,5,6,7,8,9
et SISO YART vl &
(31) =T 3 0 3R 1
(@) @I 3 1 3R 2
(W) <3 0 3R 2
(@ 103(M0,1,2 34,55, 7,8 9
6. The value of B of a transistor :
(a) islessthan |
(b) lies between 20 and 200
(c) is greater than 200

(d) is always infinite
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7. The three constants of JFET are related as :

(a) no= Tt 8 m

(b) n=
g
(C) gnr =h Ta

1 i

(d —-=

& m rﬂ'
JEET & F f-RIdiol & o H =l & :
(3:[) no= Ta & m
@ w=—-

g ni

M) g, =nr

1 1}
E"' —_— e
( ) gm 'rn’

8. A diode as a rectifier converts :

(a) AC into DC
(b) DC into AC

(¢) Varying DC current into constant DC current

(d) None of these

U SHTS fAedi o dvg fdhvdl dgadl & °

() AC W DC #
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d DC W AC
(W) DC ®IRT § dRice DC &IRT #
@) s @ o T
9. Negative feedback is employed in :
(a) Oscillators
(b) Rectifiers
(¢) Amplifiers
(d) None of these

FOTAD YA BT GBIl &
(31) <o #
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(W) waeld o
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10. The universal bias stabilization circuit is most popular
because :

(a) 1. does notdepend on transistor characteristics
(b) Its B sensitivity is low
(c) Voltage divider is heavily loaded by transistor
bias

(d) 1, equalto 1
Al IR ReridvT uReer waiitis uiig & @il :
@) 1. BHA ISR ahi W R T8 avar
@) gwal p Hagiaar ov B 8
(W) ISR aRI¥ GRT diccol |Iold ¥ dls 8l &
(& 1, BIAM 1, ® I BIAT &
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